Appendix D

Standard Electrode Potentials*

Half-Reaction E*® (V)
Fa(g) + 2¢~ = 2F (aq) +2.87
Os(g) + 2H (ag) + 26~ =— 0,(g) + H-0()) +2.07
Co'"(ag) + e~ =— Co""(aq) +1.82
H,0,(aq) + 2H " (aq) + 2¢~ =— 2H,0(]) +1.77
PbO,(s) + 3H (ag) + HSO4 ™ (ag) + 2¢” = PbSO.(s) + 2H,O(/) +1.70
Ce'*(ag) + ¢ =— Ce* [aq} +1.61
MIID_, (ag) + 8H" {aq} + 5¢~ = Mn’ {aq} + 4H,0(l) +1.51
Au'(ag) + 3¢ = Au(s) +1.50
Cly(g) + 2¢~ = 2Cl (aq) +1.36
Cr,0;° " (aq) + 14H " (ag) + 6~ == 2Cr "(ag) + TH.O()) +1.33
MnOs(s) + 4H  (aq) + 26~ == Mn*"(aq) + 2H,0()) +1.23
0,(g) + 4H (ag) + 4¢~ = 2H,O(/) +1.23
Bra(f) + 2¢” =— 2Br (aq) +1.07
NO; (ag) + 4H" (ag) + 3¢~ == NO(g) + 2H,0(l) +0.96
2Hg’ " (aq) + 26~ = Hg." "(aq) +0.92
Hg.* " (aq) + 2~ === 2Hg(/) +0.85
Ag'(aq) + ¢ = Ag(s) +0.80
Fc“[aqj +e =/ FC2+(H£,'] +0.77
0i(g) + 2H" (ag) + 2¢- = H;0x(aq) +0.68
MnQy (ag) + 2H,0() + 3¢ =— MnO,(s) + 40H (aq) +0.59
I(s) + 2¢- = 21 (aq) +0.53
0,(g) + 2H,0() + 4¢~ =— 40H (aq) +0.40
Cu:'{ﬂq} + 2¢7 —= Cu(s) +0).34
AgCl(s) + ¢~ =— Ag(s) + Cl (aq) +0.22
5041_&::;} + 4H" (ag) + 2¢~ === S0,(g) + 2H,0O(D) +0.20
Cu “ag) + ¢ 1—CI.! {ﬂq} +0.15
Hlag) + 26T == — %L (cq) +0.13

"Ii (ag) + 287 —— Halg) (.00
Pb>*(ag) + 2¢~ === Pb(s) -0.13
Sn’*(aq) + 2¢” === Sn(s) -0.14
N l:g] + 5H"(ag) + 4¢~ == N,H; " (aq) -0.23
[ﬂq} + 2e¢” == Nils) =0.25
Ccr {ag) + 2" =— Cc{s} =().28
PbSO,;{s} +H" l[aqj + 2¢” =— Pb(s) + HSO,; (aq) -0.31
Cd' (ag) + 2¢ = Cd(s) —0.40
Fe** [aq] + 2¢” =—= Fe(s) -(.44
Cr [ﬂq} + 3¢ ——— — Cr(s) -0.74
Zn’ “(ag) + 2¢” = Zn(s) -0.76
2H.O(N) + 2" === Hai(g) + 20H (ag) -0.83
Mn®*(aq) + 2¢” === Mn(s) -1.18
Al-‘*inq:. + 3¢ === Al(s) ~1.66
“(ag) + Zc = Mgis) -237

Nﬂ {ﬂq} 4+ ¢ == Na(s) =-2.71
Ca’ “(ag) + 2~ = Ca(s) —2.87
Sl" {ac_.*] + 2¢” =— 81(s) —2.89
Ba® “(ag) + 2(: —— Bal(s) —-2.90
K¥(ag) + e == K(s) -293
I-i+{f-'f|"]' + e =—— Li(s) -3.05

*All values at 298K.





